O A findthebox

/e EGOI Day 1 Tasks

EGOI Chinese (USA)
Find the Box

Problem Name Find the Box
Time Limit 1 seconds

Memory Limit 1 gigabyte

MajR —BELTHIEMNBARARR . EAAXZH TEEE - LXRNER. XIMTEREREE—
T T=NBRENEFF, AW, Mg TEEEEEFREINEF, B TEFERE , #HI XN ES
S, wHE—RNAERTEES L TEEN — SR ARLBERITEHER.

i FEAREER —MHWH R, HFITM0EIH-14%S ( NILEBEES ) , JIM0BIW-14/5 ( NEE
A1) XEKRELLANETEZO,0), A FTANETHERH-1, W-1). EFEFEBNUTEMNKRANET
iRt

BRB® L, NIBARLEBNELAFTHRER TEPBI,

BRBLE , Mo LAHBA—RIBHES , EXIEAFHF<, > YAVARNFTEFHR, Bk
W, MBEYBAUEENE(r, o)L , HEAEEKERESRY , <RTUNSBABDEBHENVE(, c-1) , SRR
BAMEBHENEr, c+1) , VERTNBABDLEBHENE(r-1, ) , “VERTUBABD TBIHEVE(+1,

C)o

WENEEIREN , FIANRNIBARBBIENEZIN , fAET254E, X EFHRER , #F
. BHRERN , BAHLREHNVE , H REFELRA, HEAEXEE , BitMaj REERTEERE
R ERNKZEEF,

xE
XR—AREAE, FORFUREEER—TEEH M H AW RESENLE,

AR SHEFSESESERE, BERENT , GEETONT?  RRATHC, > V.
VERWEDFES s, o BOPHRORERS TUR20000. B4 , FORFLERMA B,
c(0srsH-1,0scsW-1)  RERTHSFABANLE. HEE  ABAESRENERLE
B30, 0).

HMRAERE FHNVER |, BTN | "EERERNERM, ¢ | iE/?%%FﬁEEﬁ?Tﬁﬁﬂ (0smsH-1,0
SepsW-1), BtZE , MVEFL4FRE , FTEHRTEMNEMER, XHRENHEERHERNES
AT A ERREK.
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BREALEAERFIFERY  SNRNEBFITESHEHATERNER ., EPythond | print()2 B3 Rl F 5
o EC++/ | cout << endl; BR T TENRITRISN , L& RIFTA L ; MR M printf , F M fflush(stdout).

EMISDRREBENN , IRREEREFRZAMBE T EFHNLE,
ARMIT S

1 < H,W < 50.

ZEFRKEFRL2MT (0,0), XEKREH+W=23,

BANEHRSTUEE 20 000 £IES.

FBHEZANUAL 2500 NEH, HONRENERTEREN )

BHBADRBEWSZNRAAH L#H TN MRENBRDREXEN S ENEMERK HR (HmRE
HIRMEFHE (WA) ., BB (RTE) . BHEERS (TLE). F) , £8RE 0 5 MMERAIHIR,
MRENEFRIDEE FENRAGFENVE  BEEE HEAC, FOUHENT :

— min [ 100v2 ;
score = min ( V2 ,100) points,
He Q REMNHASPEANRAEAR. HHRLAER TEREN. 7RSI REENE
., BrR, BREB 1005 , ENBFLARSER Q=2 RKERENMNAAH £EH. TREFRT QW
—EENMEX D

Q 2 3 4 5 .. 20 .. 50 .. 2500
Score 100 82 71 63 .. 32 .. 20 .. 3

MATAE ATHENRMRNBRERE , BNERT —IMEIENTAMR TR, B EKattis 7] B TEAYH
HrhER, ZTARTIEN , RAUUNERTER, HEE  Kattis ENEFTIRFESNRTATRE,

REIAE (RIgH=4 , W=5  BENEFNTMNEr=2,c=3) : XFPythoniBF , RiZFERARENR
solution.py ( & & LApypy3 solution.pyiE1T ) : python3 testing_tool.py pypy3 solution.py <<< "4 5 2 3"
NFCHIEF , BERIBE (Bl EAg++ -std=gnu++17 solution.cpp -o solution.out ) , REE1T :
python3 testing_tool.py ./solution.out <<<"4 5 2 3"

O EEEGIN LA, MENSEH=4, BEW=5, EFNUTMNEr c)=(2,3). FTEERTHEA
ERATE—DEH? wo>>>S><MMASTIRESINEER |, RANBAEENEr c)=(0,2), EE=AN
BEHzZH , MBALBREIEELR (0,0). RE MRAZTEHS —AHEH
>>>>>>>>ywwwwwwww , B ABRAKREEAETAr c)=(3,4). E , BRAZBRERNERE , B2
3 XREFHERNE,
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